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1 In english

Exercise 1
We consider the uniform discrete distribution on the integers from 1 to 4. We draw a sample of size 8
from this distribution and we get 4,3,4,3,1,1,1,1. Compute the following four characteristics : mean,
median, centered moment of order 2 and first quartile, for the theoretical distribution and for the empirical
distribution associated to this sample.

Exercise 2
Let X;,--- X, be a sample from the Bernoulli distribution with parameter § € (0,1). Let X be the

empirical mean of this sample. We consider the estimation of the parameter ¢ = 0(1—8). Let T = X~ X2.
— compute E(X), Var(X), E(X?)
for this question only we assume that 8 € (0, 1). What is the maximum likelihood estimator of ¢?
compute its bias.
what is the Cramer Rao lower bound for an unbiased estimator of @7
what is the asymptotic behavior of T'?
— we take an a priori distribution on the parameter 9 given by the density f(6) = 36(1 - 6) on the
interval (0,1). Compute the bayesian estimator of # for quadratic loss.
Annex. You may use the following information. The density of the Beta distribution with parameters a
and b is given for u € (0,1) by f(u) = “—:;zﬁ‘)r——l, where B(a,b) = fol w®~1(1 — u)?~'du. The mean of
this distribution is equal to 7%3.

2 En frangais

Exercice 1
On considére la loi uniforme discréte sur les entiers de 1 & 4. On tire un échantillon de taille 8 de cette

distribution et ’on obtient 4,3,4,3,1,1,1,1. Calculer les quatre caractéristiques suivantes : moyenne, mé-
diane, moment centré d’ordre 2 et premier quartile, pour la distribution théorique et pour la distribution
empirique associée & cet échantillon.
Exercice 2 .
Soient Xj,--- Xn un échantillon de la loi de Bernoulli de paramétre 6 € (0,1). Soit X la moyenne
empirique de cet échantillon. On considére I’estimation du paramétre ¢ = (1 — ). Soit T' = X -Xx2
- calculer E(X), Var(X), E(X?)
_ dans cette question seulement on suppose que 6 € (0,3). Quel est I'estimateur du maximum de
vraisemblance de ¢ ? calculer son biais.
~ quel est la borne de Cramer Rao pour un estimateur sans biais de ¢?
- quel est le comportement asymptotique de T'?
~ on prends comme loi a priori sur le paramétre 9 1a loi de densité f(f) = 36(1 — ) sur lintervalle
(0,1). Calculer Pestimateur bayésien de @ pour la perte quadratique.
Annexe. On pourra utiliser 1' information suivante. La densité de la loi Beta de parametres g et b est

donnée pour u € (0,1) par f(u) = ﬁ::é%;‘—;‘s):, ot B(a,b) = fol u®~1(1 — u)*~1du. La moyenne de cette
loi est égale & %5.
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1 In english

Exercise 1

We consider the uniform discrete distribution on the integers
from this distribution and we get 4,3,4,3,1,1,1,1.
median, centered moment of order 2 and first quartile,

distribution associated to this sample.
Exercise 2

Let X;,--- X, be a sample from the Bernoulli
empirical mean of this sample. We consider the estimation

— compute E(X), Var(X), E(X?)

for this question only we assume that fe
compute its bias.

what is the Cramer Rao lower bound

what is the asymptotic behavior of T'?

from 1 to 4. We draw a sample of size 8
Compute the following four characteristics : mean,
for the theoretical distribution and for the empirical

distribution with parameter 8 € (0,1). Let X be the
of the parameter ¢ = 0{1—0). Let T = X - X2.

(o, %) What is the maximum likelihood estimator of ¢7

for an unbiased estimator of @7

we take an a priori distribution on the parameter @ given by the density f(f) = 36(1 — 6) on the

interval (0,1). Compute the bayesian estimator of § for quadratic loss.

Annex. You may use the following information.

u“-lB%a- ;:)!b-‘l' where B(a,b) = fol u®~1(1 — u)®~'du. The mean of

and b is given for u € (0,1) by f(u) =
this distribution is equal to ;ﬁ.

2 En francais

Exercice 1

The density of the Beta distribution with parameters a

On considére la loi uniforme discréte sur les entiers de 1 4 4. On tire un échantillon de taille 8 de cette

distribution et ’on obtient 4, 3,4,3,1,1,1,1. Calculer les
diane, moment centré d’ordre 2 et premier quartile, pour

empirique associée & cet échantillon.
Exercice 2

quatre caractéristiques suivantes : moyenne, mé-
la distribution théorique et pour la distribution

Soient Xy, ---Xp un échantillon de la loi de Bernoulli de paramétre § € (0,1). Soit X la moyenne

empirique de cet échantillon. On considére ’estimation du paramétre ¢ =

— caleuler E(X), Var(X), E(X?)

8(1 — 6). Soit T =X — X2

— dans cette question seulement on suppose que 6 € (0,3). Quel est I’estimateur du maximum de

vraisemblance de ¢ ? calculer son biais.
- quel est la borne de Cramer Rao pour un

estimateur sans biais de ¢?

— quel est le comportement asymptotique de T?

- on prends comme loi a priori sur
(0,1). Calculer P’estimateur bayésien de 0

Annexe. On pourra utiliser I' information suivante. La densité

donnée pour u € (0,1) par f(u) = u“"Bg——(l,:;‘S =,

. . s @
loi est égale & —%3.

le paramétre 0 la loi de densité f (6) = 36(1 — 0) sur l'intervalle

pour la perte quadratique.
de la loi Beta de paramétres a et b est

ou B(a,b) = fol v*~1(1 — u)*~du. La moyenne de cette




